
SAP ABAP table GGREFO {Example for Global Object Table 1 (Object/Partner)}

GGREFO

MANDT [CLNT (3)]

OBJNR [CHAR (18)]

COMP [CHAR (6)]

OBUKRS [CHAR (4)]

BUSA [CHAR (4)]

FAREA [CHAR (16)]

T000

MANDT [CLNT (3)] GGREFO-MANDT = T000-MANDT 0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)] GGREFO-OBUKRS = T001-BUKRS 0..N

1
T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 GGREFO-COMP = T880-RCOMP 
0..N1

TFKB

MANDT [CLNT (3)]

FKBER [CHAR (16)]

 GGREFO-FAREA = TFKB-FKBER 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 GGREFO-BUSA = TGSB-GSBER 

0..N

1


